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1) 4da 2 —3z (3 —3mn 4) —4pqg (5) —8r+4y
6) 6a —3b (7)) 1ls+2¢t 8 7p—9q 9 —br+4y
(10) —z+6y—2 (11) 4a+3b+9 (12) 5s—15¢—2
(13) 3z —30y —22 (14) —41p—2q+51
(1) 6a—2a=(6—2)a

=4a
(2) 32x4+2xr—8x=(3+2—8)x
=—3z
3) dmn —Tmn=4—"Tmn
=—3mn
4) —3pg—pg=(—-3—1)pq
=—4pq

b)) z—3y—9z+Ty=2—92—-3y+7y
=(1-9z+(—3+T7y
=—8z+4y

6) —a+2b+7a—5b=—a+7a+2b—5b

=(—=1+7a+(2-5)b
=6a —3b

(7) 2s—4t+9s +6t =2s +9s — 4t +6¢
=24+9)s+(—4+6)
=11s+2

8) 5p—8q+2p—q=5p+2p—8q—q
=(+2)p+(-8—1)g

=7p—9%
9 —8r+6y—2+3r=—8x+3z+6y—2
=(—=8+4+3)zx+(6—2)y
=—5r+4y

(10) 3z—y+3+7y—4r—5=3r—4dx—y+Ty+3-5
=B—4)z+(-14+7y+(3-5)
=—z+6y—2

(11) 5a+6b+8—a—3b+1=5a—a+6b—3b+8+1

(1) z*+3z—4

=05—-1)a+(6—-3%+(8+1)
=4a +3b+9
(12) —s—8t+2+6s—Tt—4=—s+6s—8 —T7t+2—4
=(—146)s+(—8—=7¢+(2—4)
=bs —15¢—2
(13) 26z —17y +12—232x — 13y — 34 =262 — 23z — 17y — 13y + 12— 34
=(26—23)z +(—17—13)y + (12— 34)
=3z — 30y —22
(14) —16p+29¢+37—31g—25p+14=—16p —25p +29g —31q+ 37+ 14
=(—16—25)p +(29—31)g+(37+14)
=—41p—2q+51
2 —z3—z’—z+3 3) 5a’+5ab—3b*
4) 6x—2y* (5) —ab—10bc—5ca  (6) 3z —zy+y’+3z
(1) 72%—32—2—6z’+6x—2=Tz?—622—32+62—2—2
=z’+3z—4
2) 22°—5zr+3+4r—3z°—22=22°—32°—22—bxr+42+3
=—z—z’—z+3
(3) a?+42ab—202+3ab+4a’—b*=a?+4a®+2ab+3ab—202—b"
=5a*+5ab —3b*
4) —3zy+2*+2°—4y’+52*+3ry = —3zy + 3y + 2>+ 5z% + 2 — dy*
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\
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\

=62%—2*
(5) 5ab—3bc—6ab +2ca—"Tbc—"Tca =5ab —6ab —3bc —Tbc +2ca —Tca
=—ab —10bc —5ca

6) 4x?—5ry—y +3z+day+2t—2?=4x’— 2 —Szy+day —y’ 4+ 2%+ 3z
=3z —zy+y’+3x



